Conservative and Nonconservative forces
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A rollercoaster has a mass of 500 kg and is at the top of a 15 m tall hill. If it has a velocity of 2 m/s at the top of the hill,
what is its velocity at the bottom of the hill? (Assume no friction)
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Now suppose we have a force of friction of 45 N per m. The rollercoaster travels a total distance of 50 m
as it goes down the hill. Find the velocity as it travels down the hill
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A5 kg brick slides down a 3 m long ramp that is titled to a 40 degree angle above the horizontal. The
coefficient of frictidn is .2. What is the brick's velocity at the bottom of the ramp?
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